
Master Waterway Check Valve

Service Parts List

Valve Manufacturer Valve Size  (in.) Page

Akron
1.5 2

2.0, 2.5, 3.0 3

Elkhart
1.5 4

2.0, 2.5, 3.0 5

06/02/20
Rev. DateDocument Number

SPL83380
Issue Date

WaterousCompany, 125 Hardman Avenue South, South St. Paul, Minnesota 55075 USA (651) 450-5000  www.waterousco.com
Note: When ordering parts, provide Pump, Transmission or PTO Serial Number.

01/30/15



458

456

457

452

455

451

454

453

Akron Check Valve-1.5 in.

Ref No. Description

450 Master Waterway Check Valve (Includes 451-458)

451 CHECK VALVE AKR 1.5 FNPT / VIC

452 FLANGE V1-S 1.5

453 Bushing, 3/4 MNPT x 3/8 FNPT 

454 ELBOW-90 3/8 MNPT X 3/8 FNPT BRASS

455 GASKET, 1.5 AKRON FLANGE

456 SCREW-HEX HEAD, 5/16--18X  1-1/2, ZINC PLATED 
(COARSE THREAD)

457 Washer-Plain, 5/16 in

458 Nut-Hex, Nylok, 5/16-18

450                                           
Master Waterway Check Valve                   

(Includes 451-458)

52 ofPage
SPL83380



454

453

451

456

457

452
(Includes 456 and 459)

?

Akron Check Valve-2.0, 2.5, 3.0 in.

Ref No. Description

450 Master Waterway Check Valve (Includes 451-459)

451 Check Valve, 2.0, 2.5, or 3.0 in

452 Flange-Adapter (Include 456 and 459)

453 Bushing, 3/4 MNPT x 3/8 FNPT 

454 ELBOW-90 3/8 MNPT X 3/8 FNPT BRASS

456 Screw-Hex Hd, 3/8-16 x 1-1/2 in

457 Washer-Plain, 3/8 in

450                                           
Master Waterway Check Valve                   

(Includes 451-459)

53 ofPage
SPL83380



458

454

453

451

455

452

456

457

Elkhart Check Valve-1.5 in.

Ref No. Description

450 Master Waterway Check Valve (Includes 451-458)

451 CHECK VALVE ELKHART, 1.5 UNI-BODY VALVE X 1.5 
FNPT/2.0 VICTAULIC

452 ADAPTER, 1.5 UNI-BODY VALVE X 1.5 VICTAULIC

453 Bushing-Reducing, Pipe, 1 x 3/8 NPT

454 ELBOW-90 3/8 MNPT X 3/8 FNPT BRASS

455 GASKET, 2.0 AKRON FLANGE

456 Screw-Hex Hd, 5/16-18 x 1-3/4 in

457 Washer-Plain, 5/16 in

458 Nut-Hex, Nylok, 5/16-18

450                                           
Master Waterway Check Valve                   

(Includes 451-458)

54 ofPage
SPL83380



451

455

452

454

453

458

456

457

Elkhart Check Valve-2.0, 2.5, 3.0 in.

Ref No. Description

450 Master Waterway Check Valve (Includes 451-458)

451 Check Valve, 2.0, 2.5 or 3.0 in 

452 ADAPTER, 2.0 UNI-BODY VALVE X 2.0 VICTAULIC

453 Bushing-Reducing, Pipe, 1 x 3/8 NPT

454 ELBOW-90 3/8 MNPT X 3/8 FNPT BRASS

455 GASKET, 2.0 AKRON FLANGE

456 Screw-Hex Hd, 3/8-16 x 2 in or 2-1/4 in

457 Washer-Plain, 3/8 in

458 Nut-Hex, Nylok, 3/8-16

450                                           
Master Waterway Check Valve                   

(Includes 451-458)

55 ofPage
SPL83380


	Sheet1
	Drawing View1

	Sheet2
	Drawing View2

	Sheet3
	Drawing View3

	Sheet4
	Drawing View4

	Sheet5
	Drawing View5


